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Each sentence below has two blanks, each blank indicating that
something has been omitted. Choose the set of words for each blank
which best fits the meaning of the sentence as a whole. (Q No 1 to 5)

The students

not reach on time

of the transport strike.

a) Can, as

b) Could,
because

¢) May, account

d) Will, despite

B | Could,
because

The teacher

_the concept by

practical examples

a) Showed, b) Gave, c¢) Explained, d) Found, C | Explained,
telling speaking quoting looking quoting
Taking objection ---our disparaging remarks, he walked---the meeting.
a) For-into b) With-away |c) To —out of d) To-out from |C |To —outof
from
Did you leave the books----the drawer or---the table?
a)on-on b) into-above |b)in-above d) in-on D |in-on
They now jeered —him whom they had once acclaimed ---their hero.
a) At-as b) Towards-as |c) For-by d) To-as A |At-as
Each sentence below has a blank. Choose the word for each blank
which best fits the meaning of the sentence as a whole. ( Q No 6 to 10
)
You will not pass the test unless
A)You shall B) You work C)You work D)You would C | You work
work hardly harder work harder harder
harder
The garden___neglected, but it is a favourite picnic spot today.
a) Was A9 Had earlier | By Had before ©) Was earlier B | Had earlier
been been been been
(Option Place | (Option Place C) | (Option Place (Place of




B) D) option is
(b) no
negative
marking
for other
option
selected)
8 | The country’s aviation plan seeks to link all major cities
A)With one B)With each C)Within D)Together A | With one
another other themselves another
9 | What passes education today is just an exercise in memory building.
A)ln B)For C)About D)By B | for
10 | ___ the northern frontier of India is the Himalayas
A)Along B)Above C)In D) Besides A | Along
Choose the word which is most opposite in meaning ( Antonyms) to
the word/phrase printed in bold.( Q Nos 11 to 15)
11 | Die down
a) Killed b) Create c) Stop d) Start D | Start
12 | Innocent
a) Suspicious | b) Clear c) Intelligent d) Guilty D | Guilty
13 | Raze
A)Demolish B)Sleep C)Reconstruct D)Encroach C | Reconstruct
14 | Congenial
A)Acquired B)Solemn C)Unpleasant D)hot C | Unpleasant
15 | Contentious
A)Amendable | B)Philosophic | C)Fortunate D)Tentative A | Amendable
al
Choose the word which is most similar in meaning ( synonym)to
the word/phrase printed in bold.( Q Nos 16 to 20)




16 | Dozed off
a) Waited b) Slept ¢) Nodded d) Dreamt B | Slept
17 | Precious
a) Valuable b) Best c) Biggest d) Worthless A | Valuable
18 | Reverence
a) respect b) detail c¢) astonishment | d) remembrance | A | respect
19 | Admonish
a) to warn b) to reproof | c) to counsel d) to advise A | towarn
20 | Inexorable
a) angry b) liable ¢) exit d) relentless d | relentless
The sentences below (Q Nos 60 TO 70) have been divided into four
parts and marked A,B,C,D. One of these parts contains a mistake in
grammar idiom or syntax. Identify that part
21 | She was as pretty If not prettier than any other girl who had come to participate in the
meeting
a) She was as | b) If not c) Any other girl | d) To participate | A | She was as
pretty prettier than who had in the meeting pretty
come
22 | If one reads the newspaper regularly you will be surprised at the improvement in your
overall reading skills from day to day.

a) If one reads | b) You will be | ¢) In your d) From day to A | If one reads
the surprised at overall day. the
newspaper the reading skills newspape
regularly improveme r

nt regularly
23 | After finding the problem, the mechanic cleaned the carburettor, started the engine and

found it working smoothly

a) After
finding the
problem,

b) The
mechanic
cleaned the

¢) Started the
engine

d) And found it
working
smoothly

A

After
finding
the




carburettor,

problem

24

Sunit is more talkative than any boy in the class because he is not afraid of the teacher,

since the teacher is his brother

a) Sunit is b) any boy in | c¢) he is not d) since the B | any boy in
more the class afraid of the teacher is his the class
talkative because teacher, brother because
than

25 | Like his brother who did not wear his helmet and was injured in the accident, Rajan was
always careful Rajan was always careful

a) Like his b) and was c) Rajan was d) Rajan was A | Like his
brother injured in always always brother
who did not the careful careful who did
wear his accident, not wear
helmet his

helmet
26 | If certain code language PREMONITION is written as 68530492904,
how will the word MONITOR be written in that code language
a) 1234567 b) 3049208 c) 3029408 d) 3049258 b 3049208
27 | If SCOTLAND is written as 12345678, LOAN is written as 1435,

LOTS is written as 8124, DAN is written as 537 and SON is written

as 458, then what will be the code for 'C'?

a)6 b)9 )0 d)4 a 6

Directions for Q 28- Q34:

Six friends A,B,C,D,E and F are sitting in a row facing towards

north. C is sitting between A & E. D is not at the end. B is sitting

immediate right to E. F is not at the right end.

28 | Who is immediate left to C?

a)E b) A ¢) Either E&A | d)Cannot be b

determined

29

How many persons are there to the right of D?




a) one b) two c¢) three d) four four
30 | Who is at the right end?
a)A b)E c)B d) Cannot be B

determined




31

1 mark will
be added
32
1 mark will
be added
33
1 mark will
be added
34 | Who is at the left end?
a)F b) A c)B d)C F
Directions for Q35-Q38:
In each of the following questions, a statement is given. Select the
meaning of the statement from the give alternatives:
35 | He possesses wealth, therefore he is rich
a) One who b) All rich ¢) Some rich d) One who One who
possesses person have persons have possesses wealth possesses
wealth is rich | wealth wealth is not called rich wealth is
rich
36 | Birds can fly as they have feathers
a) All those b) All those ¢) Some who d) Some who All those
who have who can fly can fly have have feathers can who have
feathers can have feathers feathers fly feathers can

fly

fly

37

No nation can b

e neutral because

all nations are interdependent

a) No neutral
nation is

dependent on
other nations

b) All neutral
nations are
interdependent

¢) Some
neutral nations
are
interdependent

d) The nations
which are
interdependent
are called neutral
nations.

All neutral
nations are
interdepend
ent

38

Army officers observe discipline because they are strict




a) Only strict | b) All strict ¢) Some strict | d) Some who All strict
persons can persons can persons can observe persons can
observe observe observe discipline are observe
discipline discipline discipline strict discipline
39 | He is lucky because he has won lottery
a) All those b) Only those | ¢) All lucky d) Some lucky All those
who win who win persons win person have won who win
lottery are lottery are lottery lottery lottery are
lucky lucky lucky
40 | He cannot de dismissed because he is skilled
a) No skilled | b) Some ¢) Some who d) All those who No skilled
person can be | skilled persons | were dismissed | are dismissed are person can
dismissed cannot be were skilled skilled persons be
dismissed persons dismissed
41 | That person has a child, therefore, he is a father
a) Some who | b) Some ¢) All those d) All those who All those
have children | fathers have who have have children are who have
are fathers children children are fathers children are
not fathers fathers
42 | If red is called yellow, yellow is called blue, blue is called white,
white is called green, green is called pink and pink is called purple,
then what is the color of clear sky
a) blue b) yellow ¢) pink d) white white
43 | If bright is called dark, dark is called green, green is called blue, blue
is called red, red is called white and white is called yellow, then what
is the colour of blood
a) red b) dark ¢) white d) yellow white
44 | If each letter is the English alphabet is attached a value equal to its
serial number in the alphabet, which of the following will have the
highest sum of the values of all it letters?
a) BODY b) MORE ¢) NOSE d) TONE TONE

45

Which of the following pairs indicates similar relationship between

its two elements as is indicated by Darkness: Lamp?




a) Medicine: | b) Study: c¢) Thirst: d) Fatigue:
Illness Classroom Water Exercise

Thirst:
Water

46

Forty boys are standing in a row facing the North. Raghu is 11th from
the left and Vijay is 31st from the right end of the row. How far away
will Uday, who is third to the right of Raghu in the row, be from
Vijay?

a) 3rd b) 4th ¢) 2nd d) 5th

4th

47

Three of the following four are alike in a certain way and so form a
group. Which is the one that does not belong to that group

a) Father b) Mother ¢) Aunt d) Cousin

Cousin

48

How many such letters are there in the word ORIENTAL each of
which is as far away from the beginning of the word as when they are
arranged in alphabetical order?

a) None b) One c) Two d) Three

Two

49

In a certain code, PLEADING is written as FMHCQMEFB. How is
SHOULDER written in that code

a) b) QDCKTIPV | ¢) QDCKVPIT | d) KCDQTIPV
TIPVQDCK

QDCKTIPV

50

Four of the following five are alike in a certain way and so form a
group. Which is the one that does not belong to that group?

a) Cotton b) Jowar ¢) Wheat d) Millet

Cotton

51| Who wrote the book titled ‘Rajatarangini’ that described about the history of Kashmir?
a)Vishnu Kant | b) Sher Alam c¢)Kalhana d) Nawaj Khan ¢) |Kalhana
Shastri
52| Who was the second Asian to receive Nobel Prize?
a)Rabindranath| b) Chen Ning ¢) Tsung-Dao d) Chandrasekhara | d) [Chandrasekhara
Tagore Yang Lee Venkata Raman Venkata Raman
53[The capital of Sweden is
a)Stockholm |b) Ziirich ¢)Geneva d)Bern a) | Stockholm




54| The generic name of Vitamin C is
a)Acetic Acid | b)Ascorbic acid | ¢)Citric Acid d)Acetylsalicylic b) | Ascorbic acid
Acid
55(Which is the largest ocean in the world ?
a) The Atlantic | b) The Indian ¢) The Pacific d) The Arctic Ocean| c) The Pacific
Ocean Ocean Ocean Ocean
56/Which country won the first ICC World Test Championship?
a) England b)West Indies c¢)New Zealand | d) Australia ¢) |New Zealand
57Who wrote the book 'Mother India'?
a) Sarojini b) Katherine ¢) Sucheta d)Ashapurna Devi | b) | Katherine
Naidu Mayo Kripalini Mayo
58| Kathakali is the classical dance form of
a) Andhra b) Tamil Nadu ¢) Karnataka d) Kerala d) Kerala
Pradesh
59The Quit India Movement was launched by Mahatma Gandhi in
a) 1942 b) 1920 c) 1929 d) 1946 a) 1942
60 ‘India wins freedom’was written by
a) Mahatama | b) Jawaharlal c¢)Maulana Abul| d) Rabindranath ¢) |Maulana Abul
Gandhi Nehru Kalam Azad Tagore Kalam Azad
61|/What is called the fear of extreme or irrational fear of water, especially as a symptom of
rabies in humans?
a) Nomophobia| b) Agoraphobia | ¢) Hydrophobia | d)Emetophobia ¢) | Hydrophobia
62[Who wrote the book titled ‘The Idea of Justice’?
a) Nirod C b)Amartya Sen | c) Amitav d)Jawaharlal Nehru | b) | Amartya Sen
Chowdhuri Ghosh
63Which city is called the ‘City of Joy’?
a) Kolkata b) New Delhi c) Bangalore d) Hyderabad a) Kolkata
64| The longest bone in human body is




a) Femur b)Humerus c)Fibula d)Tibia a) Femur
65/The head quarter of UNESCO is situated in
a)Washington | b)Geneva c)Paris d) New York c) Paris
D.C.
66 Who wrote ‘Indica’?
a) Iban Botuta | b) Meghasthenes | c¢) Fa — hien d) Kalhan b) | Meghasthenes
67/Who was the most famous ruler of the Chalukya dynasty?
a)Pulakesin I | b)Krittivarman | c)Pulakesin I d) Chola a) | Pulakesin II
68Which year was the ‘Battle of Plassey’ held?
a) 1690 b) 1790 c) 1857 d)1757 d) 1757
69 ‘Right to Property’ is a
a) fundamental | b)administrative | c)legal right d) sovereign right | ¢) | Legal right
right right
70 |‘National Statistics Day’ is celebrated by the Government of India on
to commemorate the birth anniversary of Prof. P C Mahalanobis.
a) 29" March  [b)29™ April ©)29™ May d)29™ June d) [ 29" June
71 |Which famous poet popularly known as the ‘Parrot of India’?
a) Mirza b) Amir c) Abul Fazal d) Faiz b) |Amir Khusrau
Ghalib Khusrau
72 |Which city of the world has been ranked the best as per the recently published the ‘Globall
Liveability Index, 2021’ by the ‘Economist Intelligence Unit (EIU)?
a)Auckland b) Toronto c)Osaka d) Geneva a) |Auckland
73 [The capital of Papua New Guinea is
a) Ngerulmud | b)Nouakchott c)Port Moresby | d)Rabat ¢) [Port Moresby
74 [Who authored the famous book titled ‘Train to Pakistan’?
a)E. M. Forster | b)Khushwant | ¢) Ernest d) J.K Gallbraith | b) [Khushwant
Singh Hemingway Singh




75 |‘The Eight Degree Channel’ separates which of the following?
a) Andaman b) the islands of | c) the island of | d) India from Sri | b) |[the islands of
from Nicobar | Minicoy and Minicoy from | Lanka Minicoy and
Island from Maldives the main Maldives
each other in Lakshadweep
the Bay of
Bengal
76lIf 90% of A =30% of B and B = x% of A, then the value of x is ?
A) 800 B) 300 C) 700 D) 400 B 300

77

The product of two numbers is 1600 and their H.C.F is 5. The L.C.M of the numbers is ?

A) 320 B) 1605 C) 1595 D) 8000 A 320

78

An ore contains 12% copper. How many kgs of ore are required to get 69 kg of copper ?

A) 424 B) 575 C) 828 D) 1736 B 575

79

A man purchased some eggs at 3 for Rs. 5 and sold them at 5 for Rs. 12. Thus, he gained
Rs. 143 in all. The number of eggs he bought is ?

A) 210 B) 200 C) 195 D) 190 C 195

80

5% income of A is equal to 15% income of B and 10% income of B is equal to 20% income
of C. If income of C is Rs. 2000, then total income of A, B and C is ?

A) Rs.6000f B) Rs. 18000, C) Rs. 20000 D) Rs. 14000 | B | Rs. 18000

81

From the salary of an employee, 10% is deducted as house rent, 15% of the rest he spends
on children’s education and 10% of the balance he spends on clothes. After this expenditure,
he is left with Rs. 1377. His salary is ?

A) Rs. 2000 B) Rs. 2040 C) Rs.2100| D) Rs. 2200 A | Rs.2000

8

N

The largest number which divides 77, 147 and 252 to leave the same remainder in each case
is ?

A)9 B)15 0)25 D)35 D 35

83

In an examination, there were 2000 candidates, out of which 900 candidates were boys and
rest were girls. If 32% of the boys and 38% of the girls passed, then the total percentage of




failed candidates is ?

A)35.3%

B)64.7%

©)68.5%

D)70%

B

64.7%

84

A student who secures 20% marks in an examination fails by 30 marks. Another student
who secures 32% marks gets 42 marks more than those required to pass. The percentage of
marks required to pass is ?

A)20 B)25 )28 D)30 B 25
85/The H.C.F of two numbers is 12 and their difference is also 12. The numbers are ?
A)66, 78 B)70, 82 )94, 106 D)84, 96 D 84, 96

86

respectively is ?

The least number which when divided by 16, 18 & 21 leaves the remainders 3, 5 & 8

A)893

B)992

C)995

D)1024

C

995

87/ A man’s wages were decreased by 50%. Again the reduced wages were increased by 50%.
He has a loss of ?
A) 0% B)0.25% C)2.5% D)25% D 25%
88|lf the cost price of 15 tables be equal to the selling price of 20 tables, the loss percent is ?
A)20% B)30% C)25% D)37.5% C 25%
89|If the side of a square is increased by 30%, its area is increased by ?
A)9% B)30% ©)60% D)69% D 69%
90[The radius of a circle is increased by 1%. What is the increased percent in its area ?
A)1% B)1.1% O)2% D)2.01% D 2.01%
91A reduction of 21% in the price of wheat enables a person to buy 10.5 kgs more for Rs. 100.
'What is the reduced price per kg ?
A)Rs. 2 B)Rs. 2.25 O)Rs. 2.30 D)Rs. 2.50 A Rs. 2
92/lf 8% of x =4% of y, then 20% of x is ?
A)10% of y B)16% of y C)80% of y D)25% of y A 10% of y




93

The average score of a cricketer for 10 matches is 43.9 runs. If the average for the first 6
matches is 53, the average for the last 4 matches is ?

A)17.15 B)29.75 ©)30.25 D)31 C 30.25

94

There were 35 students in a hostel. If the number of students increased by 7, the expenses of
the mess were increased by Rs. 42 per day while the average expenditure per head
diminished by Re. 1. The original expenditure of the mess was ?

A)Rs. 400 B)Rs. 420 C) Rs. 432 D)Rs. 442 B Rs. 420

95

The average age of 30 students in a class is 12 years. The average age of a group of 5 of the
students is 10 years and that of another group of 5 of them is 14 years. The average age of
the remaining students is ?

A)8 years B)10 years C)12 years D)14 years C 12 years

96

A sum of Rs. 550 00 was taken as a loan. This is to be repaid in two equal annual
installments. If the rate of interest be 20% compounded annually, then the value of each
installment is ?

A)Rs. 42100 B)Rs. 39600 C)Rs. 36000 D)Rs. 35000 C | Rs. 36000

97

The average of 10 numbers is calculated as 15. It is discovered later on that while
calculating the average one number, namely 36 was wrongly read as 26. The correct average
is ?

A) 124 B)14 O)l6 D)18.6 C 16

98

The compound interest on a certain sum of money for 2 years at 10% per annum is Rs. 420.
The simple interest on the same sum at the same rate and for the same time will be ?

A)Rs. 350 B)Rs. 375 C)Rs. 380 D)Rs. 400 D Rs. 400

99

The average age of an adult class is 40 years. 12 new students with an average age of 32
years join the class, thereby decreasing the average by 4 years. The original strength of the
class was ?

A)10 B)11 )12 D)15 C 12

100

The difference between simple interest and compound interest at the same rate for Rs. 5000
for 2 years is Rs. 72. The rate of interest is ?

A)10% B)12% C)6% D)8% B 12%




